EARAROBEEIERT — 2 N— IBISH —F

2012%8H26H (H) 3EIHR6H

Bl=E5%% 1000AT ¥5%3/mE (BE) (5 ©& [ml [ immm) — |2 o0 1w
[A&4] 1 7 14,000,000 § 2 7% :5,600,000 33 :3,500,000 4 3% :2,100,000 § 5 7 : 1,400,000 M
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . H & :20. -~ . - EESE (ER)
1 3| YW RY—7— # 3 5 1(2_0)4 8-8 33.8 7 :1:524) bnkis5 A
L= /¥LLy b B RU—Lxtx TS
DS AHEE :20. = . — MIkE (ER)
2|5(g|®/—TITaTl)— 5 4 55.0 1(72?:;1 i s 2 (25) (/) HBL—AK—X
A:Smarty Jones B:/—TIZRTT Shadai Farm
Qe . 4 3 | BBESH 1:20.6 1-1 35.1| — 4 480 | HOEZ ()
317114/ B—FZ7472 b 54.0 (1 1/4) © | @R O—Fr-2557
Qi A bk—b BiA—N—%TY Il s
. o)) = Elespac| :20. - . - Bl NES: )
a2 LRy s i 4 o 1(12/02)7 -1 |33.9 3 (4:324) o
LT =TANT N BiLh—2FA =T X H A
=« N & FH R : = - EET p::}
50111 IVEZ5>bh—"J s 552.0 (11210/‘?) e %3 1 :_1;; ;E;gﬁii )
RiGATATv— BALT1T7Fh—"7 HET77— L4
S . 44 | SEEKH 1:20.9 2-2 34.8| — 5 476 | EAKZR (i)
68|15 YT RINTELZX 57.0 (5 6) i) W 5Ty KI5T-5T4T
Ry 7ZE>ZX B:OAXENAMTTR 17 %%
A N LEHER : - — RMEED (EA
7 M IN=PYJ=1=3> i 6 e (11.211/.21> 4-4 34.8 10 (4;6) ol
L:g4X 0 ML BT IFLACR FAEEHIS
- . panzz el : - — NeK (E#H)
slgligl 77v—x#7z i 3 - 1(721[:)2 8-8 34.6 8 &4} /E:Hlj‘é—
Riw>NnyghH7r B:OYKRyTH-I "HET7— L4
o B 3 | EE2 1:21.2 -1 | 34.4| — 6 448 | HUTERR (3ER)
9 5| 7L/ &=} 52.0 (NF) ) |BESH LY
L:Tw IRy b By —a2F Y AR
N FTE—H 21, = . - WHHELR (ER
N . R R e R 13 ?8? BA
LEL/INY R B o TFa T4 A AR
. S 4 3 | KEFHRIR 1:21.5 6-6 35.1 | — 9 400 | AILEA (EBH)
11 10 T by b—L4 52.0 ©2) (+2) |ETBEAR LT 2R (1)
L:F1=TANT N BN 1I—Z b=L AEXERE
o mio— R : - — NE—F (EH)
B 4| oL-F27=— H 3 i 1(721[:;5 14-14 | 34.2 15 ;1_568) EEEB}E}
L:TFZAT7L X84 L BIIR NIRRT =T EEI42y K
N : IS J5S54 > 6 g?%?ﬂlz 1:(211).7 16-16 [33.8| — 16 (i:g) §§§$ (=)
XY ISR - BiTF % J—HrIr—L
i i HLRER . B 9] — ISE ()
1412 7> T1TRTY "85S [ R # O
R:TSATLZXEAL B TELTLA b BEMHGEN RRES
. . MEB— : - — pullal=LINNE
1517]13 FrI—T1—> [B] it 6 HEs 1.(242).4 2-2 36.4 14 123;3 it
R:h7A4=Z2T B:574h J—=HrTr—L
. P AARE IE 7B : — — =2/ (FR)
1 s BIEEFELL A > 5| B 1.(253).3 6-6 36.9 11 (fg) EEE?L
LT RIAY Ty IR B:RU—3I>TLAF BEZ &Y K
@ 71 L
) 46.1-34.9
NA>Z4 L | 12.7-10.7-10.9-11.2-11.6-11.5-11.8
@ 11— S —EBlIEfL
1T=7r=
230—7F—
Gol=5r= 14-(13,15) (7,9) (10,11) (1,3,16) (2,5,12)-(4,8) -6
40—+ — 14-(13,15) (7,9) (10,11) (1,3,16) (2,5)12(4,8) -6
[ N3
BB 3 2,720/ 714K 3-9 1,670H & 2-5 4,780H JEHE 3-9-14 13,460M
8 B 3 600 3-14 2,800 B = 3-9 4,580M B 3-9-14 108,200M
9 230M 9-14 70 | | B ¥ 3-9 13,110
14 260M

ABICOVWTRDTEEERROODE. TR LIV,




